C:h Examining Place Value Name:

Deter mine which choice best answer s each question. Answers
1) Which choice has adigit in the ones place 2) Which choice has a digit in the thousands
that is exactly twice the value of the digit in place that is exactly twice the value of the 1
the tens place? digit in the hundreds place?
A. 7,598,416 A. 94,625 2.
B. 8,574,126 B. 39,876
C. 8,759,631 C. 23,176 3
D. 3,416,524 D. 16,342
4.
3) Which choice hasadigit in theten thousands 4) Which choice has a digit in the ones place that
place that is exactly twice the value of the is exactly three times the value of the digitin || >
digit in the tens place? the tens place?
A. 264,713 A. 73,594 6.
B. 917,456 B. 38,915
C. 892,531 C.57,913 7.
D. 685,448 D. 92,146
8.
5) Which choice has adigit in the thousands 6) Which choice has a digit in the ten thousands
place that is exactly three times the value of place that is exactly three times the value of 9.
the digit in the ones place? the digit in the tens place?
A. 3,284,976 A. 174,836 10.
B. 8,156,272 B. 184,276
C. 9,531,246 C. 496,739
D. 9,135,627 D. 317,284

7) Which choice has a digit in the thousands 8) Which choice has adigit in the hundred

place that is exactly four times the value of thousands place that is exactly four timesthe
the digit in the ones place? value of the digit in the thousands place?

A. 384,251 A. 2,376,419

B. 671,359 B. 6,852,341

C. 526,793 C. 6,741,983

D. 873,249 D. 7,245,389

9) Which choice has adigit in the hundreds 10) Which choice has a digit in the tens place that

place that is exactly five times the value of is exactly six times the value of the digit in the
the digit in the tens place? hundreds place?

A.511 A. 7,485

B. 624 B. 4,687

C. 564 C. 6,165

D. 649 D. 5,839
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C:h Examining Place Value Name: Answer Key

Deter mine which choice best answer s each question. Answers

1) Which choice has adigit in the ones place 2) Which choice has a digit in the thousands

that is exactly twice the value of the digit in place that is exactly twice the value of the 1 D

the tens place? digit in the hundreds place?

A. 7,598,416 A. 94,625 2. D

B. 8,574,126 B. 39,876

C. 8,759,631 C. 23,176 3 D

D. 3,416,524 D. 16,342

s C

3) Which choice hasadigit in theten thousands 4) Which choice has a digit in the ones place that

place that is exactly twice the value of the is exactly three times the value of the digitin || > B

digit in the tens place? the tens place?

A. 264,713 A. 73,594 6. C

B. 917,456 B. 38,915

C. 892,531 C. 57,913 77 A

D. 685,448 D. 92,146

g. B

5) Which choice has adigit in the thousands 6) Which choice has a digit in the ten thousands A

place that is exactly three times the value of place that is exactly three times the value of 9.

the digit in the ones place? the digit in the tens place?

A. 3,284,976 A. 174,836 0_ C

B. 8,156,272 B. 184,276

C. 9,531,246 C. 496,739

D. 9,135,627 D. 317,284

7) Which choice has a digit in the thousands 8) Which choice has adigit in the hundred

place that is exactly four times the value of thousands place that is exactly four timesthe
the digit in the ones place? value of the digit in the thousands place?

A. 384,251 A. 2,376,419

B. 671,359 B. 6,852,341

C. 526,793 C. 6,741,983

D. 873,249 D. 7,245,389

9) Which choice has adigit in the hundreds 10) Which choice has a digit in the tens place that

place that is exactly five times the value of is exactly six times the value of the digit in the
the digit in the tens place? hundreds place?

A.511 A. 7,485

B. 624 B. 4,687

C. 564 C. 6,165

D. 649 D. 5,839
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